RiAClients\Endura PERMANENT\B - Texas Dept of Ins\TDI - DR-610 Therma-Tru Flush GLZ\Drawings\2019 REV\TX-4423-24.dwg, TX-4423

POWERED BYIﬁ

ENDURA

DOOR COMPONENTS MADE IN THE USA

Glazed Fiberglass Door

"NON-IMPACT"
INSWING / OUTSWING

EVALUATED FOR USE IN THE STATE OF TEXAS

The Glozed Fiberglass Door system described herein complies with the 2018
International Residential Code (IRC), Sections R301 & Ré09 and the 2018
International Building Code (IBC), Sections 1404.13, 1609, 1709.5, 2403 and 2404
subject fo the following conditions:

1.

2.

Anchors shall be as listed and spaced as shown in the details. Anchor
embedment to base material shall be beyond wall dressing or stucco.
When used in areas requiring wind-borne debris protection this product is
required to be protected with an impact resistant covering that complies
with Section R301.2.1.2 of the IRC and Section 1609.2 of the IBC.
Allowable design pressure requirements must be equal fo or less than the
design pressure rating shown in the design pressure chart, sheet 1 of this
drawing.

Conditions not covered by this drawing are subject fo further engineering
analysis.

TABLE OF CONTENTS

SHEET# | DESCRIPTION

1 Typical elevations, design pressures & general notes

Door panel detdails {flush glazing)

Horizontal & vertical cross sections

Vertical cross sections

i |WIN

Frame anchoring

=— 37.75" MAX. FRAME WIDTH —

81.94" MAX. O.A. FRAME
HEIGHT (INSWING)

81.125" MAX. O.A.
FRAME HEIGHT (OUTSWING)

INSWING

+50.0

-55.0

OUTSWING

+60.0

-60.0

Lyndon F. Schmidt, P.E.
TEXAS P.E. #104123

P.O. Box 230 Valrico FL. 33595
813.659.9197

BUILDING CONSULTANTS, INC.
Phone No.:

Documents Prepared By

TEXAS BOARD OF PROFESSIONAL ENGINEERS

CERTIFICATE OF REGISTRATION # F—-11852

]

P

G )

n <=

&

=

g

& St

> N <©

=R [
3 b= B
o @

2.8

< &‘%

3 S| &o

o - P L

o e &

& < Q.

a. [a

D=

] I bt 5

UPDATE TO 2018 IBC/IRC CODE

11/18/19|ADD “FusionFrame” OPTION &
9/05/18 |ADDED ADDITIONAL THRESHOLDS

NO. DATE

2
1

REVISIONS

oate: 1/07/14

SCALE:  N.T.S.

DWG. BY: JK

CHK. BY: LFS

DRAWING NO.:
TX—4423

SHEET 1 oF 5

© 2014 R.W. BUILDING CONSULTANTS INGC.



RA\Clients\Endura PERMANENT\B - Texas Dept of Ins\TDI - DR-610 Therma-Tru Flush GLZ\Drawings\2019 REW\TX-4423-24.dwg, 2.7

HINGE STILE
[WOOD)

N7

36" MAX.

/4

EXTERIOR

4.02"

L

-— 175" —

INTERIOR

/1 "\ HORIZONTAL CROSS SECTION

\2/

PANEL WIDTH

24" MAX

D.L.O. WIDTH

179.25' MAX. DOOR
PANEL HEIGHT
63" MAX
D.L.O. HEIGHT

o O

AN

SEE HARDWARE
TABLE

THERMA TRU - Flush Glazed

EXTERIOR

9/16" GLASS
BITE

/

:

o

INTERIOR

\

LATCH STILE X

(LVL)

11/16" THK. GLASS

1/8" TEMPERED
GLASS

AIR SPACE

1/8" TEMPERED
GLASS

ALUMINUM SPACER

Q'SO SEALANT

<: ) GLAZING DETAIL

Door/Sidelite Panel
(fiberglass)

KWIKSET

LATCH: KWIKSET SIGNATURE SERIES (991)
DEADBOLT: KWIKSET SIGNATURE SERIES {980/985)

A i
SNy, N
Foriol il g%
|a— 1,75" —] 5_},{?‘?'“‘ :2?:% ‘*.'.:f//%i(} \\k :'g‘g_ o gg
SW i5i; GWON|[E® 8 YX
TOPRAL | Zoid7ioiS el [0 g8 of
(COMP) ™ o ST AN LS S5 wh T ue
SR iZ e SIS cg i
oW, 0 ¥ g 92 25
0, iRl K& 2¢ 23 08
! i, 1ot A 58 BE
! QS e i Z L O T 388 8
FIBERGLASS SKIN : a5 RS p>o pE
(075" MIN.) Y Made™ x SR. Pb
o o -
3 287 b
i "mo oo
] 9.5 4
& 592 gp
a [ 54
(]
2 & ok
=
E X 3k
3 I~
8
wn
G <5
i)
P
’ I c | %=
4 s 4%
o
& 13 a‘é
w
2 S
/] S g S
/ 2 i
& &
EXTERIOR INTERIOR
%] )
5 Il
. 5
%]
, 4|3|8
O
318|%
=N
QjOIX
CIEF 2
o|® O
SR8 2
FOAM CORE CiolEl @
3 x
(POLYURETHAIJE\ W
1.9 PCF MIN.) (1IN
SES
. S|
338
<C <
o ©0
5 2 B
; N NIo
BOTTOM RAIL < =
(COMP.) ~ |-IS

!

¥

@ VERTICAL CROSS SECTION
2

oaTE: 1/07/14

SCALE:  N.T.S.

DWG. BY: JK

CHK. BY: LFS

DRAWING NO.:
TX—4423

SHEET 2 oF 5

@ 20714 R.W. BUILDING CONSULTANTS INC.



R:\Clients\Endura PERMANENT\B - Texas Dept of Ins\TD! - DR-610 Therma-Tru Flush GLZ\Drawings\2019 REW\TX-4423-24.dwg, 3.7

ud
@@ Py 2 FRAMING STy, “8
3 _ _ (G >=0.42) _ (G >=0.42) Soriiinl, ‘:\\ 25 o B
B f - So iTi welNsT Bzt
D X7, SHEATHNG  J{1 R i 1~ 2 f?.é; BHEXY S B ¢ in 2!
. LA L EXT. SHEATHING  k|]|¢ o & ﬁj R ¢ " ;EQ
ﬂ / #1114 \ A ) 1_’;;\ ;!O,. w‘;;:g é‘:::_c:z gg § OO! g:
y // ) E DRYWALL \ ‘ S DRYWALL  [9h i X& §F E£8 99
S ‘1114 T £ A0, H GRS e g9
/ 1k b R e O I
b o #10X 2-1/2" PFH 11 | _~#10X3"PFH 21111{1;\5\,\-\\.*”& & R E§
1 7|  WOOD SCREW 1 | WOOD SCREW 3 28%
¢ 1A T ] et ol © o
1/4" MAX. ‘ 174" MAX. il g 25 2
SHIM SPACE \ ! VP SHIM SPACE \ Jr o oo §§
m X e 0 Za 8 § i
| _ =143 5 gE
\:}/ 0] £ @ 6
——{* = 00p0o0] 8
/
/ DOOR PANEL DOOR PANEL
/// N HEAD: PINE ™~ HEAD: "FusionFrame" (1-PIECE) g
ENDURA WEATHERSTRIP ENDURA WEATHERSTRIP E%
E (QEBD/PE 650) (QEBD/PE 650) < =5
oD >
CORNER PADS > q EXTERIOR W INTERIOR EXTERIOR W INTERIOR s g =,
{ oS
N
NI TNV ("2 VERTICAL CROSS SECTION /3" VERTICAL CROSS SECTION s s B°
w\y ww \3/ Olu'rsvwng shO\avn - Inswing \_3_/ Outswing shown - inswing = o
also approve also approved e} K
& £
el [efs
0.15" ) ST
EXT.SHEATHING ~ SHIMSPACE (TYP) , SHIM SPACE EXT. SHEATHING 4318
JAMB: "FusionFrame” / ~lol@
" " . 1 OR 2-PIECE SIS
0.75 ’T‘_NJ 0.75 —!" ~ ﬁ0-75 \ JAMB: PINE ( \ ) 5 §§J %
— r—— gy T N e T S B S S . " . S— S|m
-'-’-:~’ "- "-'-’- //#]0)(2_.]/2"PFH #‘OXQ‘IIT PFH '—5%{ ““ ‘\ “‘ ‘\ ‘\ “‘ ‘\ ‘-‘ =m 02 : 5
COMPOSITE 2X FRAMING / WOOD SCREW WOOD SCREW g ((\D; % %)
(G >=0.42) / 2N 3
\ SNAP-ON 2X FRAMING clols| |&
CAP ENDURA WEATHERSTRIP  ENDURA WEATHERSTRIP (G>=0.42) HE
\ (QEBD/PE 650) (QEBD/PE 650} / HEN
g I 191@
B EXTERIOR 3518
§ m XTERIO SRS
- SRE
=HHIN | [ok
/ = LvL N = S ISP
D! T T / \ s}
oate: 1/07/14
a5 ] s L —=i 125" b= DRYWALL/ / \#8 cipmsns  TUERIOR S DRYWALL ScAE N.T.S.
#8 X 2-1/2" PFH WOOD SCREW LATCH owe. B JK
JAMB / HEAD JAMB / HEAD JAMB " £ HINGE LS #8 X 2-1/2" PFH o o LFS
PINE "FusionFrame" "FusionFrame” #8 X 3/4" PFH SMS WOOD SCREW DRAWING NO.:
(1-PIECE) (2-PIECE) /1" HORIZONTAL CROSS SECTION Y4423

w Inswing shown - Qutswing also approved

SHEET 3 oF 5

© 2014 R.W. BUILDING CONSULTANTS INC.



R\Clients\Endura PERMANENT\B - Texas Dept of Ins\TDI - DR-610 Therma-Tru Flush GLZ\Drawings\2019 REWTX-4423-24.dwg, 4.7

A\ \\ ALY uj 0
INTERIOR EXTERIOR INTERIOR EXTERIOR ST TRy, oo
DOOR PANEL ~ ENDURA ﬁt‘%*‘ io ¢ ?/3& 14 8 § o gg
v DOOR PANEL WEATHERSTRIP o 0B i DOOR PANEL L I £ g Yo
INTERIOR EXTERIOR S X S I £
G \ (QEBD/PE 630 ~ ENDURA \ / FNAIGIS G e 27, 2l
DOOR SWEEP ENDURA WEATHERSTRIP  INTERIOR EXTERIOR| 2 55 e L SE O o=
(DBK-R) DOOR SWEEP —— i B § g 0 2
. (QEBD/PE 650) i5 : b 28 65
{DBK-ZAC) . : K 3 e BE
00000 ..ol Aead |50 Bty
I N DO W Zon Eg
lh #ITG: VLL gan- 25
Mpdect™ & ©O%; om
r' D b 2 éi 5 L
N ‘ ‘ § g g § g =
h" - maa g
‘ D5 — a - = 2 2 ] & @ é
: : S
ke Y 8
#10 X 2.5" PFH WOOD SCREW OR #10 X 2.5" PFH WOOD SCREW OR #10 X 2.5" PFH WOOD SCREW OR #10 X 2.5" PFH WOOD SCREW OR %
1/4" X 2-3/4" ELCO OR ITW CONCRETE SCREW 1/4" X 2-3/4" ELCO OR {TW CONCRETE SCREW 1/4" X 2-3/4" ELCO OR ITW CONCRETE SCREW 1/4" X 2-3/4" ELCO OR ITW CONCRETE SCREW 5
7“1\ VERTICAL CROSS SECTION /" 2"\ VERTICAL CROSS SECTION /"3 VERTICAL CROSS SECTION (4 VERTICAL CROSS SECTION - &
\U inswing Adjustable Threshold \U Inswing Arficulafing Threshold W Outswing Bump Threshold \U Outswing Bump Threshold & o 8
Q I
= o &
W = ©
e —J
.
S &
. .'! ) 5:* &: Ef_
& 2 N ]3 = == 0l
- N L
- | - 7! o 5
n ]
| 456" | 46 ~ | 4.56' | 456" | | 456" | Sla
[&]
1 INSWING ADJUSTABLE THRESHOLD INSWING ADJUSTABLE THRESHOLD 3 INSWING ADJUSTABLE THRESHOLD 4 INSWING ADJUSTABLE THRESHOLD 5 INSWING ADJUSTABLE THRESHOLD : o ]
IAIL4565 2 I niass5eN ZAILAA4565 TAIAA4565FN ZAI4565RDS S| %
SIBE| |0
. HEERS
* g & 5 2
3 = slolg [®
: o I
Bl 5:S O
- - - Qlm
- ., | | ., | | 3|55
. 4.56 x ; 4.56" 4.56 | . 4.56" : <| <
o o
INSWING ARTICULATING THRESHOLD INSWING ARTICULATING THRESHOLD 8 INSWING ARTICULATING THRESHOLD 9 INSWING ARTICULATING THRESHOLD 10 INSWING ARTICULATING THRESHOLD g w
6 Jinciesss 7 Jiacasssn TACLAA4565 ZACAA4565FN ZAC4565RDS < g g
=] |o
o
N Tz
)
TATEED T el TATE=N i
5 g & i : ! s NTS
{ j__ i i =) owe. BY:  JK
[ ] [ ' l " [ ] " CHK. BY: LFS
| 456" | | 456" . |~ 456 | | 4.56 | X
1 OUTSWING THRESHOLD 12 OUTSWING THRESHOLD 13 OUTSWING THRESHOLD 14 OUTSWING THRESHOLD TX—4423
TOB4565FN ZOBLA565 ZOB4565RDS FOB4566

SHEET 4 oF 5

© zo14 R.W. BUILDING CONSULTANTS INC.



R:\Clients\Endura PERMANENT\B - Texas Dept of ins\TD! - DR-610 Therma-Tru Flush GLZ\Drawings\2019 REWTX-4423-24.dwg, 5.7

\ ui
s o 2X FRAMING HEAD ANCHORS: § N:,,m'\-*ff‘,}i‘”}“l a 8
Q & Z (BY OTHERS) #10 X 2-1/2' WOOD SCREW (PINE JAMB) % #: a é:; 83 Q.
g o #10 X 3" WOOD SCREW (1-PIECE JAMB) ZAXET iE Ex & s
0% S el , £ o 22
3=Q \ 6 A N au gB gy
a = (YR fé‘sg'%gi S we S gs My
| *l R oy Vg & s9 poZ 3%
o 0T Nig T 299 58
- - , S 1 9%, 91 R 2 3398 g%
. SEE HINGE - -1 QY ki E Felis p-P W
I T M DETALT . iz 5 s 88° 'g%
— AR 5T
- o5 S 5 g % 3 ; Sy
I - ] - -u. O (@] a =g o Q
m ™~ JAMB ANCHORS: 37 g Adi gk
% #10 X 2-1/2" WOOD SCREW (PINE/2-PIECE JAMB) ] o) 8 § bz
Q N #10 X 3' WOOD SCREW (1-PIECE JAMB) 5 g k
S i | E K B8
SEE HINGE S 1
DETAIL 2 SEE STRIKE &
B 7 PLATE DETAIL W ©
< o &
- V] e & z
D .a Q
F N >
4 23 S g =
l i =0 & § W
o X 1] 0 <
< 2
T2 SILL ANCHORS: 5 ol ©
HINGE JAMB #10X 2-1/2' PFH WOOD SCREW STRIKE JAMB 3 c
- 1/4'X 2-3/4"ELCO OR & 5
FLOOR SUBSTRATE MATERIAL FRAME ANCHORING ITW CONCRETE SCREW 1T To
CONCRETE (MIN. 3000 PSI) X (4 I [ 2
WOOD (G >= 0.42) =
- DEADBOLT SECURITY 433
STRIKE PLATE (o)
#10 X 3" PFH WS <= %ga
NN
o jOja
Sl@|T| v
#8 X 2-1/2" PFH WS —= ololl 16
JAMB NOTES: T LATCH STRIKE Qg’ é ‘<th n
THE PINE OR "FusionFrame” 1-PIECE JAMB MAY BE INSTALLED @ THE HEAD OR SIDE JAMB. — PLATE h; 5 g g
i " 2-PIECE JAMB MAY BE INSTALLED @ THE SIDE JAMBS ONLY. s
THE FusionFrame" 2-PIECE J STRIKE PLATE DETAIL § " 8
2 < Q)
. Qg
CONCRETE ANCHOR NOTES: 8 5 2
1. Concrete anchor locations at the corners may be adjusted to maintain the min. ; :
edge distance to mortar joinfs. NENN
2. Concrete anchor locations noted as "MAX. ON CENTER" must be adjusted to #8 X 2-1/2" PFH WS ) ©l |9l
maintain the min. edge distance to mortar joinis, additional concrete anchors / P #8 X 2-1/2" PFH WS } Na
may be required to ensure the "MAX. ON CENTER" dimension are not exceeded. e 5 3
3. Concrete anchor table: 48X 1" PEH WS 4:‘ H1*S é:. e N TIZ
o M 52.\> #8X3/4" PFH WS #BX ]" PFH WS :. : .. s #8X3/ " PFH WS DATE: 1/07/14
~— 4" X 4" HINGE L 4" X 4" HINGE sCALe:  N.T.S.
AR e \{ \“ DWG. BY: JK
,Tw ® -‘/ " -' 3/ " 1_"/ " 4" CHK. BY: LFS
TAPCON ) HINGE DETAIL 1 HINGE DETAIL 2 DRAWING NO.:
ELCO TX—4423
® “ " 1 -3/4" ]ll 4"
ULTRACON / SHEET 5 oF 5

© 2014 R.W. BUILDING CONSULTANTE INC.



